
Day 25 
 

◎ Vocab Review  
 Answer Key:  1. assess   2. discriminate   3. interview   4. evaluation/ submitted/ candidates   

 

◎ WORDS IN CONTEXT 
 Answer Key:  
(Waste) is possible to be (segregated) based on (biodegradable) or (non-biodegradable) waste so that the City 
can deliver different (components) of our (trash) to recycling (facilities) that can (utilize) it to our (benefit). 
Our trash is not a waste any more, it’s a (resource) for making new products and creating soil (amendments). 
Sorting waste can be done manually at the (household) and collected through (curbside) collection (schemes), 
or automatically separated in mechanical biological (treatment) systems.  
A problem which is increasing is (Landfills). We have less and less land to deposit (refuse). On the other hand, 
the volume of waste never ceases to increase. So, segregating waste is not only of environmental importance, 
but also of economic (concern). 

◎ Match each definition (A – P) with today’s vocabulary word (1 – 16) 
 Answer Key: 
A-5; B-16; C-8; D-7; E-14; F-15; G-13; H-2; I-6; J-3; K-4; L-9; M-11; N-1; O-10; P-12 

◎ Part 5 exercise 
 Answer Key:  1. Landfills     2. household / curbside / schemes    3. Waste / segregated / biodegradable / non-

biodegradable 
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